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Fs #HE 5 ]E s i [}=92 425 R HEE &ix
1 Wi 5 #FBNE 83.32 48
2 AR B X e HE 86.40 6
3 ¢ L BH x £ C 84.08 33
4 BT = #HEBhE 83.33 46
5 £S5 = e 82.28 54
6 WF = #HEBE 84.49 27
7 AL B’ e 3B 83.94 34
8 KAE = #rBhE 83.56 43
9 RYEY 5 g 83.73 40
10 R % ¥ 84.62 26
1 FH5H = #HEBE 84.85 23
12 FET x #EBE 83.33 46
13 P = B 85.48 11
14 EFKE x #HEBhE 85.60 10
15 R % HEBNE 85.29 13
16 pUb 5 B 86.71 4
17 &30 % ¥ 83.79 38
18 =B = #rBhE 84.98 18
19 XA = e HhE 85.90 9
20 BRR = 2B 88.92 1
21 RAF W 5 B 84.71 24
22 ZEF 5 #HEpHE 86.61 5
23 AE = #rBhE 83.91 35
24 o5 B 5 ¥ 84.90 20
25 R¥ 5 HEBNE 83.36 45
26 EAR = #HEBE 84.10 32
27 & = BEPE - 84.89 22




Fs #HE 5 ]E s i [}=92 425 R HEE &ix
28 X TEAS x #HEBE 84.31 30
29 i 5 g 88.58 2
30 H A x #rBhE 83.20 50
31 BE:: 5 ¥ 84.45 28
32 EB % HFhE 84.64 25
33 E x© BF 83.73 40
34 e E 5 HEPE 88.58 2
35 BRE 5 B 85.28 14
36 B% % ¥ 84.36 29
37 R = g 86.34 7
38 BUAR B = B HE 83.05 51
39 FE %@ HEEHE 83.88 37
40 Wit 5 #rBhE 85.16 16
41 WY x #HEBhE 85.42 12
42 1374 5 e 83.78 39
43 F4% x #HEBE 82.63 52
44 S ] ¥ 83.43 44
45 BN e x £ C I 85.05 17
46 TR = #HEBhE 84.90 20
47 25 = HEBNE 83.91 35
48 % Bk = B 85.28 14
49 ST % ¥ 86.14 8
50 RAZEFR = B 84.15 31
51 R % ¥ 83.65 42
52 KRR % B 82.54 53
53 B Ie = B 83.25 49
54 B % ¥ 84.97 19

H
I\
=i

N\
/|

=




B

B a3 e o

20255 E E IR B B DS SRS R HEH

Fs it 37 RE ML [958 R HEE &
1 BE x BB 85.34 11
2 RS 5 EE PR 85.20 13
3 B 5 EFHEE 85.78 5
4 BT % B 84.01 29
5 HRIR x EHEE 84.79 19
6 LEFR x BB 83.43 39
7 R x EE PR 84.60 21
8 PEM x EFHEE 84.92 16
9 ZERRAR % B 84.99 15

10 B 5 EHEE 85.10 14
1 N x BB 86.05 3
12 T % e T 3 83.32 42
13 WEE x EFHEE 84.83 18
14 HER = B 83.52 36
15 EBEE 5 EHEE 85.63 7
16 2oy x BB 84.12 27
17 FTIE 5 EE PR 83.50 37
18 =t x EFHEE 83.04 45
19 WHRRE = B 85.21 12
20 EANH x EHEE 85.96 4
21 B33 5 FHEPE 83.75 34
22 R x EEHpH 83.11 44
23 R x EFHEE 84.37 23
24 IR 5 B 83.90 32
25 BB x EHEE 82.97 46




Fs o4 5l ]RE B i [N B HER &
26 SCER 5 gl 83.96 30
27 A K % =gl 83.39 40
28 THBUR % -gilinpei 83.23 43
29 L7 kA=A L BEBE 83.92 31
30 O#HR % =gidinpe 82.92 47
31 TR % (=gilinpe 84.14 26
32 HEE B8 gl 83.88 33
33 HKI L gl 83.56 35
34 PE3C x B 84.29 24
35 S % =gilinpe 85.56 10
36 Z0A % (=gilinpe 84.89 17
37 Bk 'S B 82.13 48
38 2RI 5 -gilinpei 84.07 28
39 o] = gl 83.48 38
40 ZHa % =gidinpe 85.61 9
41 B ) (=gilinpe 85.67 6
42 XA % =gl 84.25 25
43 pAILER % gl 86.25 2
44 BT % =gilinpe 87.73 1
45 ki L =gilinpe 83.36 41
46 ¥ e R 84.50 22
47 3 451 B8 =gl 84.74 20
48 R 5 gl 85.63 7




